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Write an essay on any ONE of the topics given below. (300 words)

1. a)} Brain Drain 15
b) English as a communicative language
¢) Gender discrimination

Correct the following sentences.

a) Mother have completed all her household chores just now.

b) I have seen him yesterday.

¢) Each boy and each girl were dressed a new dress.

d) Neither of the boys have returned. .

2. | &) Heis sleeping for two hours. 10

f) Iand you would enjoy the T.V.

g) There are a lot of boys on the ground.

h) Two dozens make twenty four.

i) The news are true,

j) Early to bed and early to rise make a man healthy, wealthy and
wise.

[ Turn over



Transform the given sentences.

a)
b)
c)
d)
e)
f)
9)
h)
D)

)

I shall always remember you. (Make it a negative sentence)

As soon as he saw the tiger, he fled. (Use no sooner... than)
What a fool you are! (Assertive sentence)

Don't do it. (Passive)

Mother said to me, “Where are you going now?” (Indirect speech)
Honey tastes sweet. (Passive)

No other boy in the class is as lazy as Hari. (Comparative)

Hari is the laziest boy in the class. (Positive)

Father said to me, “Go home at once.” (Indirect)

He said to them, “Bravo! You have done welll” (Indirect)
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Short notes (any TWO)

a)
b)

c)

History of technology
Internet and communication
Marx theory regarding division of labour

Answer the following question (any THREE)

a)

b)

What is called ‘Fordism’? What are the main characteristics of
Fordism? What caused decline of Fordism? (5+5+5)

What are the three aspects of Post-Fordism? What problem does
Post-Fordism generate? Give an example of Post-Fordism.

(6+5+4)

According to Durkheim how does the division of labour benefit
society? What do you mean by dynamic density? (10+5)

What is societat bond or solidarity? Explain briefly ‘Repressive Law’
and ‘Restituitive Law’. What are the three divisions of the society
in the socio economic background? (6+6+3)

Write a brief summary of ‘The religion of the Forest’. (15)

3X15
=45




